Activity 34
Surface Area of Prisms and Cylinders

The surface area of a solid is the sum of the areas of the faces of the solid. The lateral
surface area includes the areas of all of the faces except for the base(s).
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The “B"” is replaced by the appropriate area formula that corresponds to the shape of the
base. The height of the prism is the perpendicular distance between the bases.

These formulas apply to all prisms, such as triangular prisms, rectangular prisms, rhombic
prisms, pentagonal prisms, hexagonal prisms, trapezoidal prisms, etc.

Examples: Find the total surface area and the lateral area of each prism.
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Surface Area of Prisms and Cylinders

Surface Area of Cylinders
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Examples: Find the total surface area and the lateral area of each cylinder.

2)

ch_(

LA= Zmrh
LA =2x (4)(20)
[LA=160rcm® )

r=35er  \Llo iy
h=244t S ‘:21WG\_W> |
S=20(35)(2443.5)

5= 1925 47
Ltﬁr = Q;Wrif\
& L,F‘c errh
le&-n—ﬁﬂ [Cﬁ o m_j
5) The pipe shown is{open ] \*ew\,\ T
What is the surface area in terms of w? as’ 2ffet
=26t LA = 20 (2)(e) T

h=680 [\ A= our g2




